Revision of a Non-Specialised Translation: List of Error Categories for Candidates (English to Japanese)

The translation includes errors at word, phrase or sentence level across the following categories:

Error Category

Examples of Errors

1. Distortion: An element of meaning in
the source text is altered in the target
text.

A distortion can occur in an individual

word, phrase, clause or entire sentence.

a) Source language text: This week the government announced that all public servants would get a pay rise.
Correct version: BUF I35, 2 TOABEDREEZ| & LT 5 LKL,
Incorrect version: BUFFIX, 2 TOREEDIGE 245G & BT 5 E5E LT,
(Shifting the time phrase 4 1 from the first part of the sentence to the second part alters the meaning of the
target text.)

b) Source language text: The witness described the thief as a young man with black hair.
Correct version: TR IFIREZ DF TP o 72 & GEA TR~ 7=,
Incorrect version: JEFRIZ A EZ DI FVETE - 7= LHENITIR T,

(Incorrect translation of the adjective, thereby altering the meaning of the target text.)

2. Unjustified omission: An element of
meaning in the source text is not
transferred into the target text.

An unjustified omission can occur with
an individual word, phrase, clause or
entire sentence.

Source language text: His company had increases in sales, but not in profits.
Correct version: I O =411%, 72 EIFH ORISR T N 2o 72,
Incorrect version: % Dft1X, 72 EAMEON =,

(Omission of the underlined clause results in a major loss of meaning in the context of the whole sentence.)

3. Unjustified addition: An element of
meaning that does not exist in the
source text is added to the target text.
An unjustified addition can occur with
an individual word, phrase, clause or
entire sentence.

Source language text: would guarantee that people leaving the workforce in their mid-60s enjoyed a financially
secure retirement.

Correct version: 60 fAH X THER T 5 A\ % DNRFEHINC L E LTZ B OAETE 2 5D Z L 2 RGET 5 H D

72

Incorrect version: 60 { X THERL T2 A4 B ENUFERAZT L THIRY O ANEICBW TRIEMICZE LT
BAE DATEZED Z L2 RET D H DT,

(The underlined words were not found in the original text, nor were they implied, and inserting them has a major
impact on the transfer of meaning.)

4. Inappropriate register: Incorrect

a) Source text: In a recent judgement, the Criminal Court handed down a three-month suspended sentence.
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variety of language or inappropriate
vocabulary for the text type (e.g.
inappropriate level of formality or
informality)..

Correct version: ST N AV C, FIEERHIFTIZ 3 » HOBITH T2 SV IE L 1=,
Incorrect version: fzilt I AV IR T, JHISEEHIFTIL 3 » A OPITH T 2152 72,
(In the legal register, the wording usually used to describe the underlined action by a court is & V%", rather
thanfsx. %)
b) Source language text: [in minutes of board meeting] The Chairman expressed his extreme displeasure.
Correct version: [HUffife 2 D Fk] 2 RITMOAREE R LT,
Incorrect version: 2 FAIARYITNER -T2 L S o7,

(The phrase &KX |Z 87337 - 7= & = - 7= conveys the correct meaning but is too informal in this context.)

c) Source language text: I should ask my mother for her opinion before | join the group.
Correct version: 7 /L — 7 IZIMAT ARNCRHICERZB S RE 72,
Incorrect version: 7 /L—IZIMAT D RENIRHIBE R &6 5 & 72,

(The humble form of the underlined verb is not used when addressing family members.)

. Unidiomatic expression: An expression
sounding unnatural or awkward to a
native speaker irrespective of the
context in which the expression is used,
but the intended meaning can be
understood.

a) Source language text: Smog is a huge problem in many cities.
Correct version: %< OEHTITAE v FBIEFICKERMEL o> TV 5,
Incorrect version: 26 < DERTH TAE v VN KRARFEE 72> T 5,
(3K 72 [ is unidiomatic although the meaning can be understood.)

b) Source language text: subjected to intense criticism
Correct version: Jif L W HEHIZ S B S5
Incorrect version: fg% LV CGHEEIZE DL D
(HEFNZE A4 D is unidiomatic although the meaning can be understood.)

. Error of grammar, syntax: Error in
structuring words, clauses and phrases
of a language. E.g. incorrect word
type/form; incorrect verb tense/form;
agreement error between subject- verb,
noun-pronoun, adjective- noun, etc.

a) Source language text: MRI can provide doctors with three-dimensional images.
Correct version: MRI [X[ERTIZ 3D B 2T 2L D TH D,
Incorrect version: MRI [Z[ERIZ 3D W IXIRILTH LD TH D,

(Incorrect particle is used.)
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b) Source language text: He said that this proposal would be beneficial.
Correct version: f%1X. ZORIFHEHATHD EE5-7,
Incorrect version: f%1Z, ZORITAHTHoT LS o7,
(Incorrect verb tense is used.)

c) Source language text: One of the reasons is that English is spoken as the first language in many countries.
Correct version: LD 1 Di%, L DETHRENFHF —SiEL L TEINTWNWDHZ & TH D,
Incorrect version: FRFH D 1 DIE, < DETHRENFE —SiEL LTEHEIN TV D,

(Agreement error between BEHH D 1 DiT and FES LT %))

7. Error of spelling: Error in forming words
with letters or characters. E.g.
misspelling of a word/character,
incorrect capitalisation.

a) Source language text: The number of participants exceeded 1 million.
Correct version: Z /1413 100 T A& X 72,

Incorrect version: 2011313 100 7 N &k 2 7=,
(An incorrect character has been used.)

b) Source language text: Approximately 3,000 number plates are stolen in South Australia each year.
Correct version: F§A— A 7 U 7INTIE, HHET =T L — b OEEEIE 3000 454 L T\ 5,
Incorrect version: F4~—A b7 U 7 TIL, BHET L N—T LA FOE#HEIH 3000 AL TWD,

(7> 73— A I is not commonly used.)

8. Error of punctuation: Error in use of
marks that separate sentences and their
elements, and clarify meaning. E.g.
incorrect comma, full-stop, apostrophe,
inverted commas, etc.

Source language text: The government will change its policy on the taxation of trusts.
Correct version: BUf I3, FRtAHIOBERZZEE T 57259,
Incorrect version: BUFIZMEFERUIOBUR A2, BHT 57259,

(Incorrect comma usage, i.e. the comma incorrectly separates the object from the verb.)
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